ABaz=yh

NSK CTlF, PiR—bhI1Zvy FOREMITRDK S
R=ILRQUASERZARELCVET,

(3 Ay s+ b

R—Ib1a USZHRIEZ D AEE DM VBT (3 D

1-S B
EELEHHR L
X
HE
(O] 3 3

ETT, NSKIFZEDeHDIR—ILRUERAOY &

Fv MERARLTVET,

X B ty hE—Z
E Wi X-X
BRER MIKTER Oy77y FERER
ays7Fy b BEWER
OvoF v NEUES G D F B d
WBKO6L-01 M6X0.75 14.5 12 5 10
WBKO08L-01 M8X 1 17 14 6.5 13
WBK10L-01 M10X1 20 17 8 16
WBK12L-01 M12X1 22 19 8 17
WBK15L-01 M15X1 25 22 10 21
WBK17L-01 M17X1 29 24 13 24
WBK20L-01 M20X1 85| 30 13 26
WBK25L-01 M25X 1.5 42 36 16 34
#Z BEELHRUETEY FE—X (&fF/(v R) Z@BADD ZMHEHAIFTIREN,
Oy7+y b &% -EWER
Ov v NEOES G DS B d, d,
WBK17L-31H M17 X1 37 18 30 18
WBK20L-31H M20X 1 40 18 30 21
WBK25L-31H M25X1.5 45 20 40 26
WBK30L-31H M30X 1.5 50 20 40 31
WBK35L-31H M35X1.5 55 22 49 36
WBK40L-31H M40X 1.5 60 22 49 41

B409




